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The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type [ncome over previous year |Expenditure over previous year
2021-2022 | 20222023 | 20212022 |  2022-2023
PSU Banks 15% 17% 13% 2%
Old Private Banks | 20% 14% 15% 17%
New Private Banks| ~ 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 11%

Note:  Inthe above table, the meaning of any figure x% is as follows :

() 2% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021,

() 2% in 20222023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

Sub questions

Question Number : 1 Question Id : 53307219587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of PSU Banks in 2020-2021 as ¥ 10,00,000 crore. If the expenditure of PSU
Banks in 2022-2023 is equal to the income of PSU Banks in 20202021, then the income of PSU
Banks in 2022-23 will be approximately % more than the expenditure of PSU Banks in
2021-2022.

(1) 62

(2) 44
(3) 56
(4) 64

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307219588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[f the Expenclllum of for eign Banks in 2020-2021 is equa] to their income in that year and is equal
to T 60,000 crore, then in 2022-2023, what is the difference in income and Expendllme of Formgn

Banks ?

(1) ¥ 3984 crore
(2) 4000 crore
(3) ¥ 5462 crore
(4) ¥ 3460 crore

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of new Private Banks in 2021-2022 as ¥ 8000 Crore. If the expenditure of
new Private Banks in 2021-2022 is same as their income, then the difference in income of new
Private Banks in 2021-2022 and 2022-2023 will be approximately % of the difference
in expenditure of new private banks in 2021-2022 and 20222023,

(1) 52
) 76
) 84
) 118

2
(3
(4
Options :
1.1
2.2
3.3

4.4

Question Number : 4 Question Id : 53307219590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of PSU Banks is twice the expenditure of Foreign Banks, then in 2022-
2023, what will be the ratio of income of PSU Banks to the expenditure of Foreign Banks ?

(1) 1:2
Q) 78:37
(3) 75:2
) 2:1

Options :



1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of Foreign Banks is four times its expenditure, then what will be the
approximate ratio of income to the expenditure of foreign Banks in 2022-2023 ?

1) 1:4

o 4

(
(4

=

) 4:1
] B:1
| 158
Options :
1.1
2.2

3.3
4.4

Question Id : 53307219586 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307219587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TS o 2020-2021 % w3, o A T 10,00,000 9 §1 AR 20222023 F Rww, 8 A
o7 2020-2021 % 0,083, o # A9 & G €, o 2022-2023 § N.06F, 5 A A9 20212022 §
w9 g, I F 7 § wm % SeF 5 |

(1) 62

2 44
(3) 56
(4) 64
Options:
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307219588 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

afe 20202021 ¥ feestt 1 %1 o A T AW F WA & R TR T 60,000 T 2, A
2022-2023 3 foreh e 1 o1 & o 1 o ffry 7

(1) 3984 FE
(2) 4000 g
(3) ¥ 5462 FE
(4) T 3460 FE

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T wifere foF 70 ot e a1 o o 20212022 % T 8000 € o1 Afe 20212022 ¥ 7 Feh e
T T A F WA O, @ 2021-2022 3% 20202023 W A A F o S 2021202 3R
2022-2023 § 7 et ¥ & 1 % AR H T % T

(1) 52

(2) 76
(3) 84
(4) 118
Options :
1.1

2.2

3.3
4.4

Question Number : 4 Question Id : 53307219590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 2021-202 % W.ww 3, I % A e o F oW AT E A 2022023, Wwwy, A3 &
o1 1 foeah 1 % o7 ¥ oFm fern 7
(1) 1:2

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 2021-2022 eyt o8] 1 13 36 48 W T €, T o 2022-2023 H focwh o i o7 1 I
o H T S 2

() 1:4
2) 4:1
B 5il
4) 1:5
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072768
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307219592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of mental development of Adolescents ?
A) Increased ability to deal with abstraction

(

(B) Reviewing of hopes and aspirations

(C) Increased ability to understand

(D) Increased ability to generalize the facts

(E)  Ability of problem solving

Choose the correct answer from the options given below :
() (B) (D) and () only

(2) (A), (B) and (D) only

) (4),(C), (D)and () only

(4) (C) and (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307219592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereirl & wmfaes fasra &t fagmamd €

(A) 9R T H FAdeR A FI aftd arad
(B)  STOM3il I SATeRiamiall =l FHieN

(C) &9 I afefd Frgan

(D) TAl % FHFITHI Tl 9@ g3 Arddl

(E) EWEAT THIHM 1 A0

= feu Tu foepedl § 9 W&t 3T =5H HIA
(1) %= (B), (D) 3R (E)

(2) e (A), (B) 3R (D)
(3) A (A), (O), (D) 3R (E)
(4) o9l (C) R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 7 Question Id : 53307219593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Knowing the importance of metacognition, Richa decided she would try to focus her young students’
attention on their own thinking skills. Richa knew by having her students “think” about their
thinking they would eventually increase their metacognitive skills, Which one of the strategy
should Richa employ ?

(I) Overlearning
(2) A KWL Chart
(3) Rote learning
(4)  An algorithm

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307219593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

VT o WE S o e e i foe fo o e @ ( orere) fornfoia 1 ord o
FeiA- et W 2R e 0 o foru O 0 o vt et | e e o o ot fernfefal ) o
feie o i H Tre o ot a8 9 o TR ST o S S 99 H 9ig A § 96
| e ferfa H o @ feften | 4 fE i @ w

Question Number : 8 Question Id : 53307219594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sociulogy professnr wants to gal‘her student’s Opinions on controversial social issue discussed in
class which tools allow the professor to create polls and analyze responses in real-time ?

) Poll everywhere
Camtasia
Strawpoll
Survey Monkey
) Mentimeter

(A
()
(C
(D
(E

Choose the correct answet from the options given below :
(1) (A), (B) and (D) only

(2) (A), (C), (D) and (E) only
(3) (B) and (E) only

(4)  (B), () and (D) only
Options:

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 53307219594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRISIYIA %1 T WA, e W =l Fe T foel fomeren senforer 38, o orena o e ST <1l
¢ fmfefs o 4 fa of (Svm) 91 7 R 5% fore-on & ferfel o R e S
IAfF 0 g R W 87

(A) e TR

Options :



1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Priya knows she did something embarrassing at her best friend's birthday party many years ago,
but she cannot remember what it was. This is an example of :

(I) Repression

2)  Amnesia

b

(
(3)  Implicit memory
(4) Interferences

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foe ot 91 ¢ 1o o o el ) ot erd e i o o e e e el o o9 e 3
fore o o] 8 % T 9 TRl €1 7% ek 9 o e €

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A science teacher assign students a project where they design and conduct on experiment to
investigate the effects of environmental factors on plant growth in real time. This assessment is an
Example of ?

(1) Summative Assessment
(2) Authentic Assessment
(3) Ipsative Assessment

(4)  Peer Assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% ot e foren i o) e Wit S 0 € 2] o W e R Aol A o
1 ST T F 09 O W W e TR R W e gl w0 § T qee

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307219597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the main preoccupations of quantitative researchers :
(A) Measurement

(B) Causality

(C) Emphasis on context

(D) Generalization

Choose the correct answer from the options given below :
(1) (A) and (B) only

() (A), (B) and (C) only

(3) (A), (B) and (D) only
(4¢) (B), () and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307219597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTATCH SERaial o & RS i Je=r] Hig ;
(A)

(B) =hIUIAl

(C) Fed W

(D) HTHRHTRT

= feu 7o fasedi # 9 |E S F1 999 FI9
(1) Fad (A) 3R (B)

(2) = (A), (B) 3R (O)

(3) %A (A), (B) 3R (D)

(4) %99 (B), (C) ¥R (D)

Options:

1.1

2.2

3.3
4.4




Question Number : 12 Question Id : 53307219598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Your measurements should show which of the fullowing validities if you want to generalize the
results of your research to a different population ?

(1) Construct validity
2) Internal validity

3)  External validity

) Convergent validity

(
(3
(4
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 53307219598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(
2
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Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307219599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

(Abbreviations) (Meaning)
(A) id., (I) refer to
(B) post: (II) the same
(C) wvid (ITII) namely
(D) wiz., (IV) after

Choose the correct answer from the options given below :
(D) (A)-D), (B)-(I), (O)-(), (D)-(IV)
(2) (A, (B)-(1V), (O)-(D), (D)-(II)
(3) (A1), (B)-(I), (C)~(I), (D)-(IV)
(4)  (A)-(II), (B)~(1D), (C)-(IV), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEt-11
(wfgrmamer ) (3ed)
(A) @€, O g
(B) UR=: (I ==
(C) fa= (II1) HrHe:
(D) fas, (IV) 9=rd

A= fou 7o fasedi § 9 W& W F 999 Ff9
(1) (A1), (B)-(I), (C)~(II), (D)-(IV)
(2) (A, (B)-(IV), (O)-(D), (D)~(IL)
(3)  (A)-(11), (B)-(1), (O)-(1), (D)-(IV)
(4) (A)-(II), (B)-(1D), (CO)-(IV), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 14 Question Id : 53307219600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A sampling technique that relies on getting information from people who know about a population
of interest rather than from members of that population themselves, refers to ?

()

(2)

(3)  Snowball sampling
(4)

Pmbabi]ity sampling
Key informant samp]jng

Quota sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 53307219600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YR T S 39 A | el e W fover gt ¢ o afvefa o e wuf A SRa § A
fep ¥ o9 TR & WeE @ el SR R, e €

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 53307219601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the measures of dispersion :
(A) Mean deviation

(B) Median
(C) Standard deviation
(D) Range

(E) Quartile
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A)and (E) only

(3)  (A), (C) and (D) only
(4) (), (D) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 15 Question Id : 53307219601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yeh101H I WY Tl TE=H HifT ;

(A) Hre fe=e

(B) HIfeHeR

(C) ek fereeH

(D) WH

(E) IR

A feu T farehedi | GE ST = 9
(1) 9 (A), (B) 3R (O)

(2) A (A) R (E)
(3) F (A), () 3 (D)
(4) % (C), (D) HR (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 16 Question Id : 53307219602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When we describe how a media system should function in conformity with ideal values, it is
labelled as ?

(1) Social theory

(2
(3
(4

) Normative theory
) Comparative theory
) Analytical theory

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307219602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 3 0 o 0 9 & 1 fot o e e el o o e et o e o o
%1 0 Aew o 39 fefarfen o & aiga o 1 2
1) i fagi

Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307219603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequential accounts, told from a particular viewpoint are called :
(1) Situational actions

(2) Social themes

(3) Narratives

(4) Dignified discourse

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 53307219603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferdmy gfteepion & shfee STrsRoe faerull =i et < € ;
(1) Teafq daEt wH

(2) wrHIfseR fawa e
(3) @A
(4) TR0 oy
Options:
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307219604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Many modern scholars consider the following as positive aspects of communication which of them
are true ?

(A) Communication helps create knowledge

(B) It defines the human goals

(C) It supports efforts to change social morms

(D) It makes simple tasks complex

(E) It promotes propaganda techniques all the time
Choose the correct answer from the options given below :
(1) (A) (B) (C) only

) (B), (C), (D) only

3) (D), (E) only

@
® O

(4) (A, (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307219604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(

=

) TTE T 1 e o €
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9 feu U fowedl 0 W S T Hie
(1) ¥ (4) (B) ()
() %@ (8) () D)
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(4)  (A), (). (B
Options :
1.1

2.2



3.3
4.4

Question Number : 19 Question Id : 53307219605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are part of narration ?

(A) A sequence of a beginning, middle and end

(B) Causal development between sequences and the conclusion
(C) Memorable phrases indicating what happened

(D) Absence of spatial context

(E) Exclusion of temporal factor

Choose the correct answer from the options g‘iven below :

(1) (A), (B), (C) only

2) (B), (Q), (D) only
(3) (D), (E) only
(4)  (A), (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307219605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea § 9§ #H9-3 99 &1 9 €2

(A) Y, 7Y AR 3id 1 STTHA

(B) TRy 3R frerd =1 2% fa=rr

(C) ¥ % Haiy § Hehd o4 aTc] TO vealY
(D) Tifek |y &1 9 B

(E) hIfcieh Rl o1 Sfgtho]

= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) = (A), (B), (O

(2) =@ (B), (C), (D)

(3) 9 (D), (E)

(4) F=@ (A), (O), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307219606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

List the following developments in a clu‘nncnlngical sequence :
(A) Invention of television remote controls

(B) Publication of diurnals

(C) Invention of camera

(D) Arrival of mass market paperbacks

(E) Origin of hieroglyptic writing system

Choose the correct answer from the options given below :
(1) (A), (©) (E), (D) (B)

(2)  (B), (D), (C), (E), (A)

(3)  (©), (B), (D), (A) (B)

(4) (), (B). (C) (D), (A)

Options :
1.1
2.2
3.3



4.4

Question Number : 20 Question Id : 53307219606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea fasemi &1 Femd & T 70R g 98 F
(A) Zdifears % fie Fiel o aTfaern

(B) ofeR weRTgA

(C) AL H FAferer

(D) ¥R H a1 YA 9 UqTaih 1 3TH]

() Teafardia ci@= ol 1 3594

A feu T ferredl ® | W& ST Al =91 il
(1) (A) (©), (B), (D), (B)

(2) (B), (D), (O), (E), (A)

3)  (©), (E) (D), (A), (B)

(4) (E), (B), (O), (D), (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 21 Question Id : 53307219607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 people consume 320 kg of rice in 50 days. In how many days will 30 people consume 80 kg of
rice ?

1
(1) 13; days

2
(2) 15; days

2
(3) 175 days

1
(4) 155 days

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307219607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 7 320 e, = 50 foeff o 3990 0 €1 30 7 80 e, e e e vl =R
(1) 18%1%31‘1?
2) 16%1%:%‘1'13
(3) 17%1%#1‘1?1'

(4) 16% fe 7

Options:
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307219608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs. 623 results in a discount of 11% on the market price of an item, at what
price should the item be sold to offer a discount of 19% ?

(1) Rs. 357

(2) Rs. 567
(3) Rs.577
(4) Rs. 587

Options :
1.1
2.2
3.3
4.4



Question Number : 22 Question Id : 53307219608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 623 %9 1 foret e forel e 1 ieht ST W 1% 71 2 o1 o € ff 38 W W 19% 1 92
& ¥ foru S foert e W o o e

(1) 557 ¥

(2) 567 ¥

(3) 577 ¥
(4) 587 ¥

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next number in the number series :
48, 24, 72, 36, 108, ?

(1) 115
(2) 121
(3) 110
(4) 54
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fqu TTu foeredi # 9§ @ H&=A1 &1 FH |
48, 24, 72, 36, 108, ?

(1) 115

() 121
(3) 110
(4) 54

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coding language, the word ‘GREAT" is coded as "ETCCR’, then the word 'FROWN'
will be coded as :
() DTMYL
() ETNWL
3) HTQYP
4) DSOXL

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAfed Fechgs i § ¥ ‘GREAT' #1 ‘ETCCR' 8 #feq {1 511 €, 7 v FROWN' %1 F2
am:

() DTMYL

() ETNWL
(3) HTQYP
(4 DSOXL

Options :
1.1



2.2
3.3
4.4

Question Number : 25 Question Id : 53307219611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trawlling in a train, a man notices 13 l'elephnne poles in two minutes. [f the two successive
telephnne poles are knowntobe 125m a patt, then the train s travelling ata speed of :

(1) 40 km/hr
(2) 42 km/hr
(3) 45 km/hr
(4) 48 km/hr

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307219611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o7 TH % SN, TF ST 7 13 26w e 2 el W S o S orpEi eaen U &
R AP @AM I T RA L)

(1) 40fH/9
() 4 fFd /4
(3) 45 fet/d
(4) 48 foefl /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307219612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"Of course, abortion has to be lega]. After all a woman must have freedom to do whatever she
wants with her own body”. Identify the fallacy committed in this statement :

(1) Fallacy of composition
(2) Complex question

(3) Begging the question
(4) Hasty generalization

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307219612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

195G Tofa 2B frfer o ST <R | R, TRl e B A YR % W 9 o A A
TG 1 AT | 58 FeR H T R T

1) HIEG
)

(
(2
(3)  STenga 3
(4)  SfoEi S

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307219613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contradictory to the proposition “All cats are Carnivores” ?
(1) Some Cats are not Carnivores

(2) Some Cats are Carnivores

(3) No Cats are Carnivores

(4)  No Carnivores are Cats

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 53307219613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretfefan & & #1-4 viefa, 38 vt fF g fafeemi wrawe & €, @i o ¢ ?
(1) %@ fafeerar sraveft w8 &t €1

(2) T fofeern wrave o € |

(3) FrE o forcelt rmee T8 e €

(4) FE oft wraweh foreeh 76 2t 2

Options :

1.1

2.2

3.3
4.4

4

Question Number : 28 Question Id : 53307219614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) No Carnivores are Cats.

(B) Some Carnivores are not Cats.

(C) All Cats are Carnivores

(D) All non-carnivores are non-cats

Choose the correct answer from the options given below :
(1) (C) and (D) only

(2) (A)and (D) only

(3) (A) and (B) only

(4) (B) and (D) only

Options :
1.1
2.2
3.3
4.4



Question Number : 28 Question Id : 53307219614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafga § § ®F-9 %A afFs gfe § guges ?
(A) oS off HrEvel faeeh 78 S B |

(B) F® Arams fowef 7& e €|

(C) Tt farfeemT aravyed 2t €|

(D) @it T-ntaweaf - fafeeral 2 €

A feu U fopredl § 9 HeIR SUeR I S =A RIS
(1) @ (C) 3R (D)

(2) 9 (A) 3 (D)

(3) A (A) R (B)

(4) %9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307219615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true ?

(1) Ina valid argument all of its premises have to be true

(2) Validity can be attributed to any single proposition by itself
(3) Truth and falsehood are attributes of single propositions
(4) Truth and falsehood can be attributed to arguments

Options:
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafea #H-31 F99 1 €72

(1) Tt 92 gfem o ot @it senfeammeti &1 5 2 orafer ¢ |
(2) forst e wfaatd oX S5ek g 21 S ORIt i S SRl €
3) ol IR S, kel Yfaaadl aeq ¢ |

(4) Tar ok ST i gfard R quRifad fea s e B
Options :

1.1

2.2

3.3
4.4

——

Question Number : 30 Question Id : 53307219616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyiya (Classical school of logic) which of the following step of inference corresponds
to Upanaya ?

(1)  The hill has fire

(2) Because it has smoke
()

(

4)  The hill has smoke which is invariably associated with fire

What ever has smoke has fire, e.g. an oven

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (YR S Tt 3 SR A 1 fefaias SH-3 0 99 & SR 87
1) W H am el

2)  HF T YA

3) W oA R §, o el e & arelfa O g (a)

4) TS & S e w9 { o g ©

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 31 Question Id : 53307219617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the Personal
Computer (PC) in the 1970s ?

(1) Transistor based

(2
(3
(4

) Integrated components (ICs) based
) Microprocessor based
) Vacumm tube based

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frey 3 1 i TR 1970 e e v (R) ) o o e

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Cnmputer security breaches can be minimized b}f incorporating which feature into a computer
system’s operation ?

(1) Installation of software of user’s choice

(2)  The ability to log into multiple nodes, using only one account
(3)  Forced log off from the system if no activity has been detected
(4)  Allowing the uploading and downloading of files to the system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOE YA 2 et 3 £ W 2 o 9 e o e % R e s A o
o A ¢/

(1) T % ¥ % Hiwea A vaei &

(2) o T T o A 3R a5l Ae) W -5 et b Al

(3) % Tfefafts 3 2N %1 T A R R ¥ T i i g

(4) forem W wEEl F AVGIE 7 TRAGE T A SN &

Options :

1.1

2.2

3.3
4.4

Question Number : 33 Question Id : 53307219619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

__is used to connect the smartwatch and wireless headphone to the phone and is a
range wireless technology. is used to connect the phone and the laptop

to the outside world called the “Internet” and it uses radio waves to allow high-speed data transfer

over short distances. is used to connect the phone to countless services via the “Internet”

and is a range wireless technology.

(A) Short

(B) Long

(C) Witi

(D) 3G/4G/5G

(E)  Bluetooth

Choose the correct answer from the npti{ms giv en below ;

(1) () (A) ©), ©) @6

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fe1 e o fra Tl 1 60 W o o 7 A-E W % 0 9 ) T A
F T TS 9 9 ¢ W W F fu R T M w
9 el S ST # 1 A B &R o9 15 o A Y 6 el A
et & fom e o & ol 7 g W o= e S e & el i # Em ww g
1 WA B I 3o o WA @ e Saell @ S  fau fE o € R w®

D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307219620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to computer components, which of the following statements are correct ?

(A) A hard drive has no moving parts.

(B) Fan s required to cool down CPUs so that these do not overheat,

(C) Accessing information in a hard drive is faster than accessing information stored in RAM.
en power is switched off, any information stored in a hard drive is lost.

When power is switched off, any information stored in a hard drive is lost

(E)  For a given amount of memory, RAM is more expensive than a hard drive,

Choose the correct answet from the options given below :
(1) (A), (B) and (E) only

) () and (D) only
3 (©) (D) and [E) only
(4)  (B)and (E) onl
Options :

1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOR TR & G H, Fe H A P T W § 2

(A) T g o HE Maviict T Tl & &

(B) e T, F T A T T F SATEFA QA & AE FTH A T
(C) o Trea W e TR SR, § e g S | sty ga o 2
(D) v fere ayfer o & < I € A ergrd § e ge oW 8 S €

(E) Hfd 1 TeT WHN 24, TTETRA I ST ST A, SHfen Hem g g

el feu T fersedt o § WY 3T 1 = HIAC

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List -1 List - 1I
(Computer Components) (Meaning)
(A) RAM (I)  Brain of the computer
() ROM (I) Stores the date, time and system configuration for
BIOS
(€) CMOS () Memory that can be written to and read from
(D) CPU (IV) Stores ‘boot up” program

Choose the correct answer from the options given below :
(1) (AHII), B)-(I), C-IV), (D))
V), (CHI), (D)-(1)

(2)  (AHII), (BH

(3) (A){), B)(I), (CH(1IV), DH(I)
() (AH1LV), (BHII), (CHID), (D)-(1)
Options:

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 53307219621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 8 GeEf-11 1 e it
Tl el

(W He ) ()
(A) ST, () R 7 e
(B) RN () % ot oms.20.0m, 2 fofy, W 9 e Swwm 1 e & ¢
(C) WA, (I1T) % e forg foran o1 o 9 sl ey o1 ok
(D) #h7 (V) ‘T2 479" T o HERT H ¢
A fou U foepedl § 9 W I 1 T FIoC ;
(1) (AHI), B, ©-IV), (D})
(2)  (AHII), BIV), (C)-(ID), (D))
() (A, (B, (O-(IV), D)-(m)
(4)  (AHIV), (BIHIL), (C)-(ID), (D))
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dysentery is a waterbome disease caused by water contaminated by :
(1) Virus

(2) Bacteria

(3) Fungi

(4) Protozoan

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Yferer st s T Fretifere o @ forad Hefia s/t & SR i S ®
(1)  feamy
(2)  iremy
(3) HAH

(4) RS

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following agreements/ protocols mainly focuses on the curbing of global
temperature rise ?

(1) Montreal Protocol

(2) Kigali Agreement

(3)  Kyoto Protocol
(

4)  Paris Agreement

Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretifera # 9 oG )/ Tamem # qem: ofvs aToen giE @ W B W a6 ol T §

(1)  Fitewe FAmR
(2) et Farem
(3) IR TR
(4) UfE TR
Options :

1.1



2.2
3.3
4.4

Question Number : 38 Question Id : 53307219624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A tsunami 1s a :

(1) Transverse wave

(2) Longitudinal waves

(3) Both transverse and longitudinal waves
)

(4) Neither transverse nor longitudinal wave

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& 5

(3) ITIXY 3R e I ali
) AT ST A B e Al

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is a chemical parameter to measure the water quality ?
(1) Turbidity

(2) Temperature
(3) Hardness

(4) Color
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sfet 1 TTer Hi9H o fore ffafaa | 9 sen qamafTes e @
(1
(2)

)
(4)

iR

Options:
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 53307219626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an air pollutant ?

(1) NO
(2) NOZ
(3) NO,
(4) N,
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307219626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfed o 4 = =51y ygwes 74 €2
(1) NO
(2) NO,
(3) NO,
(4) N,O
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which was the first commission to touch upon the issues of higher education in India indirectly ?
(1) The Indian Education Commission (1882-83)

(2) The Indian Universities Commission (1902)

(3)  The Calcutta University Commussion (1917-1919)

(4) The Hartog Committee (1929)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFm v SR 3 A H 3 foen % R o Tt 9N W Seord foRan ?
(1) W foem s (1882-83)

(2) YR favafaerea s (1902)

3) IcTeR fovafaered SE (1917-1919)

(4) = |imfa (1929)

——



Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The N.N. Kunzru committee was formed to look into the issue of _ at the university
level.

(1) Administrative reforms

()

(3)  Sports education
(4)

Selection of vice-chancellors

Medium of instruction

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, F% fifa 1 7, Fvafoare &R § i ) 9t 5 v F9 F fo
fepa e e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B}F 1946-47, the number of universities in India was :

(1) 12
(2) 14
(3) 15
4 17
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a9 1946-47 TF 9T | Tovafa=mei =1 &= o

1y 12
2) 14
(3) 15
(4) 17
Options:
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307219630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ancient universities was visited by the Chinese traveller Hiuen Tsang ?
(1
2
3

4

indraprastha

)

) Takshashila
) Nalanda
)

(
(
(4) Odantapuri
Options :

1.1

2.2

3.3

4.4



Question Number : 44 Question Id : 53307219630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & 9 ®F | e favafemrera &1 ywo <= 4 goTH 9T g foan 2
(1) z=9%

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Authors) (Books)
(A) Brahma Gupta () Lilavat
(B) Varahamihira (If) Brahma Sphota Siddhanta
(C) Bhaskaracharya (L) Natyashastra

(D) Bharatmuni (IV) Brihat Sambhita

Choose the correct answer from the options given below :

(1) (A1), (B)-(1), (CO)-(1V), (D))

(2) (A, (B)-(IV), (C)-(1), (D)-(LIL)
(3)  (A)HIV), (B)-(IL), (C)-(I), (D)~(IL)
4) (A1, (B)-(1V), (O)-(), (D)-(0)
Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307219631 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEi-11
(T ) (IR )
(A) R (O e
(B) =rsfAfE (I1) @ The fasgida
(C) HRRTEHE (III) Aregeme
(D) R4 A (IV) FeHfed

A= fou 7o fasedi § 9 W& ST F T9949 Ff9C
(1)  (A)-(1D), (B)-(I), (C)~(IV), (D)-(1I)

(2) (A1), (B)-(IV), (C)-(I), (D)~(III)
(3)  (A)-(IV), (B)-(1I), (C)-(1), (D)-~(LL)
(4) (A1), (B)-(IV), (O)-(I1L), (D)-(I)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072769
Question Shuffling Allowed : No

Question Id : 53307219632 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions,

Floods are normal events that cause damage. As rivers carve and shape the landscape, they build
broad ﬂoodplajns, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
though, flood-control structures have seperated floodplams from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn't soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downstream, and so on.

Sub questions

Question Number : 46 Question Id : 53307219633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

100 year flood" :
(1) Will happen every 10 years.

(2) Will never happen twice in the same year.

(3) May happen more frequently than a “10-year flood”.
(4) May happen once every century

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307219634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the biggest economic loss from floods typically due to ?
(1) Destruction of buildings

(2) Loss of life

(3) Contamination caused by flood waters

(4) Erosion of river banks

Options :
1.1
2.2
3.3



4.4

Question Number : 48 Question Id : 53307219635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do human activities like paving the roads and parking lots influence floods ?
(1)  They reduce the severity of floods

'T‘

2)  They speed up the rate of run off into streams and lakes
4)  They have no influence on floods

(
(3)  They decrease the volume of water discharge after a storm
{

Options:

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do flood control structures like levees and flood walls affect downstream areas ?
(1)  They prevent floods

2)  They reduce flooding in all areas

3

4) They increase the absorption of water upstream

(
(3)  They transfer the problem downstream, excerbating floods there
(

Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307219637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do broad floodplains, created by rivers often lead to ?
(1) Higher mountain formation
) Damage soil condition
(3) Periodic inundation
)

(4) Formation of lakes
Options :
1.1

2.2



3.3
4.4

Question Id : 53307219632 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

e Teron o e T i W & S it
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| ek g TR O e 1 YOI 1 I S 1 €| T S ) el Yol o i €1 A
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Sub questions

Question Number : 46 Question Id : 53307219633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“100 adE TR :

(1) 9% 10 991 § AT

(2) UH B Y H G AR FHH Tal AT

(3) Uk ''THadEa’ W ger H sy TR s
(4) U TSI H Uk 9 3T ekl ©

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219634 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

g ae 9 fFe o watfies sfeds af ardt €2

(1) W& #1 T2 2

(2) S =

(3) @@ % U ok FROT GG
(4) <1 T2 o FE
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307219635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR TG T A I & e T A Y W A § AT R R Y e € 7
(1) 358 o F fosffoe % 2 €|

() 3o e o el A o R 3 o 9 vfe @ I 2|

(3) 3R fore U 3 T R 3 o 1 e W €

(4) 3 AR R Y6 T I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307219636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st 7 g T Sref g P STt Srvae & a1 foFm arme ot el 7

(1) 9% &M ¥ T & |

(2) o Heft & H g ST W HA o

(3) 9 0 T YRR ST 6 T e ¢ o ol g i fef aem @ o
(4) T FO IR A SR e At T 6 GG H T 9 Al ¢ |

Options :



1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Afeai gr fAfifa = e & % HROT SgHT o1 Bl 8 2

(1) =L veid o

(2) Tzt = feafa @@ 2 ©
(3) THI-HHYG YR SAATEAEA Bl € |
(4) e = fmior dar €
Options :
1.1
2.2
3.3
4.4
Mass Communication and Journalism
Section Id : 533072258
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072770
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who coined the term pragmatics ?
(1) Marshall McLuhan

(2) Alfred Radcliffe Brown
(3) Charles 5. Peirce

(4) Neil Postman

Options :

1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 53307219638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gerd gAM T (Umafes) viee 1 goi fe foran ?
(1) e HehceH

) ke EfaE §rEd

(3) el Ty, fqa

) e IeEd

Options:

1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 53307219639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the term ’Cngniiive dissonance’ ?

(1) Marshall McLuhan

(2) Jaques Elul

(3) Neil Postman
(4) Leon Festinger
Options :

1.1

2.2

3.3

4.4



Question Number : 52 Question Id : 53307219639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) T HeheeH
(2) S UEd

(3) el IREHA
(4) fAsH HEWR
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307219640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the phonograph ?
(1) Guglielmo Marconi

(2) Thomas Edison

(3) Galilio

(4) Herald Inis

Options :

1.1

2.2

3.3
4.4

Question Number : 53 Question Id : 53307219640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIHTTE 1 TR fmay ferar on ?
(1) TFereH! HihH

(2) oY TERA
(3) et
(4) S EFE

Options :



1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the telegraph ?
(1) Samuel Morse

(2) Johannes Gutenberg

(3) Charles Babbage

(4) Thomas Edison

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHATITE &1 aTfaesr foa faar on 2
(1) Eque A

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Hutchins Commission on freedom of the press was established in the year 1942 and released
its report in which year ?

(1) 1943

(2) 1944
(3) 1946
(4) 1947

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 A Sa el S e a6 1942 H forn o o, 39 o et f e
(1) 1943

(2) 1944
(3) 1946
(4) 1947
Options:
1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 53307219643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cultivation analysis was developed by whom ?
(1) Walter Lippman

(2) Garge Gerbner
(3) Herald Lasswel
(4) Herald Inis
Options :

1.1

2.2

3.3

4.4



Question Number : 56 Question Id : 53307219643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefafea o 9 e sedaym wafafag s gfaaes fea o ?

(1) deet faasd
(2) SIS TEAL
(3) ®UTE oEd
(4) TUwS sHY

Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The transfer of mass media agendas to public agendas is called _
(1) Salience transfer

(2) Public transfer

(3) Knowledge transfer
(4) Private transfer
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Hifed & TSE 1 Greisoh e H SiqTor Feet ¢ :

(1) & 3

(2) HIESIR AT
(3) 3 AT

(4) TS ST

Options :



1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who published the weekly newspaper ‘Hindi Kesari’ from Nagpur ?
(I) Madhav Rao Sapre

(2) Pt Madan Mohan Malviya

(3) Mahatma Gandhi

(4) Bal Gangadhar Tilak

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT | el e’ A SHTER O3 3 YeReE fREH R ?
(1) w9E TE |9y

) 4. HEH Higd A

(3)  I@TeHT T

) @ TR faereR

Options :

1.1

2.2

3.3
4.4

Question Number : 59 Question Id : 53307219646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Press Trust of India (PTI) was incorporated in the year :

(1) 1945
(2) 1946
(3) 1947
(4) 1948
Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307219646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 2% &A% sfed (PTI) Ty o ffaa foran mman o 2

(1) 1945
(2) 1946
(3) 1947
(4) 1948

Options:

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 53307219647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who recognized as the first woman Photojournalist of India ?
(1) Aruna Asaf Ali

(2) Laxmi Sehgal

(3) Sohini Ghosh

(4) Homai Vyarawalla
Options :

1.1

2.2

3.3

4.4



Question Number : 60 Question Id : 53307219647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qRd o el Hieel B fefafes § 4 fd om s &2
(1) T AEE el

(2) IRH HETA
(3) el =

(4) WIS AT
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307219648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A moton pi::ture .

(1) Cannot create its own time and space
(2) Can create only time and not space
(3) Can create its own time and space
(4) Can create only space and not time
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307219648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aEH TR (= =)

(1) T4 = FHA R UM &l FiHT o T ¢
) FaA THI I G FL G &, LI F el |

(3) TE % WA SR T F G FHT THAT B |
) Fae T FH g F TFal &, T F T |

Options :
1.1



2.2
3.3
4.4

Question Number : 62 Question Id : 53307219649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the film Rashomon (1950) by Akira kurusawa, how many perspectives are given by the witnesses
of the same crime ?

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST T 1 TR T (1950) §, 3 ey % e g e wRded fed m €2

1) A
Q)
3 W
(4) T
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who produced the first sound/voice feature film, “The Jazz singer” ?
(1) Lumiere Brothers

(2) Warner Brothers

(3) Daziga V

(4) A. Hitchcock

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TN GIEE/ a9 Wi frew g e e feae o ?

(1) IR ged
(2) AR FEd
(3) TermE
(4) U fe==RlF
Options:
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dziga Vertov directed which popular film in 1929 ?

(1) The cabinet of Dr. Caligari

(2) Cindrella the man with a movie camera
(3) Cindrella

(4) Broken Blossoms

Options :

1.1

2.2

3.3

4.4



Question Number : 64 Question Id : 53307219651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S adrE A 99 1929 H R o fug feew =1 f9evm e an ?
(1) & Sfoe ofiw =l Fierd

(2) Torgen g &4 fag © gelt *uy
(3) fargen
(4) SR s

Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307219652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who propounded the theory of Montage ?
(1) Sergei Eisenstein

(2) Griffith

(3) Potemkin

(4) Vertov

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot =1 w1 faarea frae fan a1 ?
(1) HSll AESETH

(2) Tufwy

(3) drefi=pA

(4) o

Options :



1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The film A Trip to the moon’ was directed by :
(1) Edwin S. Porter

(2) D.W. Gritfith

(3) Lumiere Brothers

(4) George Melies

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ufeuz g A" e o1 THGweR 9 ¢
(1) Tefed |, 91

(2) El.esey, fufpy

(3) TR sed (gfwer 54)
(4) SIS HedTs

Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307219654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Name the film and its director, which was partly shot as a silent film and partly shot as a sound
film.

(I) Stage coach - John Ford

(2)  The great train robbery - Porter
(3)  Blackmail - Alfred Hitchcock
(4)  Broken Blossoms - D.W. Griffith

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39 firen 3R 3 FETER 1 W e o 1o T aen S safgaR e o %0 4 fipe T € 7

Options:
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the term mise-en-shot ?

(1) Griffith

(2) Pudovkin

(3) Orson Welles

(4) Sergei M. Eisenstein
Options :

1.1

2.2

3.3



4.4

Question Number : 68 Question Id : 53307219655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hg-ua-vite wise k1 anfaspr foraa T ?
(1) TRy

(2) getafed

(3) HHA Ao

(4) TS UH. MBS
Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307219656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a “Master Scene” script.
(1

) Allactionand dialogue in an entire sequence s presented but camera angles arenot indicated.
2)  All action and dialogue in an entire sequence is presented along with camera angles.

(3) Few action and dialogue in an entire sequence is presented along with camera angles.
(4)  Few action and dialogue in an entire sequence is presented but camera angles are not indicated.

Options:
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘TR O e T

(1) Bt TE SR Gere W SR H T forn e g S da ffde 7 A E
(2) T TR IR Gare R T % Y W SEE § e T o g
(3) F® TH @R G H Ul % Ay G e o e fo o €
(4) 3 UM N Hare Wy oy H W o e ¢ e d i e @ dm g



Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307219657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If we film at less than 24 fps, how will the film appear when projected ?
(1) Faster

(2) Slower
(3) Stull

(4) Normal
Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307219657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&9 24 fps | FH R frew € 7 @ forew vaifta 2t @ 9 wega et 2

(2) HAUETRT SHF He
(3) TR (e7ed)

(4) HHE
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307219658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Rabindranath Tagore started the ‘Sadhna’ under the editorship of his nephew, surendranath Tagore
in the year :

(1) 1901
(2) 1893
(3) 1903
(4) 1899
Options :
1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307219658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tall A9 ST A 7 st/ 9 G TR % Wk § W 6 TR R e e fon?
(1) 1901

(2) 1893
(3) 1903
(4) 1899
Options:
1.1

2.2
3.3
4.4

Question Number : 72 Question Id : 53307219659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Goswami Ganesh Datt brought out the Newspaper "Vir Bharat' from in 1928,
(1)  Delhi

2) Calcutta
3) Lahore
)

(
(
(4)  Amritsar
Options :
1.1

2.2

3.3

4.4



Question Number : 72 Question Id : 53307219659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et O g9 A 9 1928 § Yo IR GHRRYS 1 YERH |
(1) feeet

(2) ekl

(3) R

(4) HHAH

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307219660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The newspaper ‘Vandemataram’ was first published in the year :

(1) 1947

(2) 1941
(3) 1925
(4) 1921
Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"SHITH FHTER U3 % GEell IR YA R a9 gel 91 ?

(1) 1947
(2) 1941
(3) 1923
(4) 1921

Options :

1.1



2.2
3.3
4.4

Question Number : 74 Question Id : 53307219661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The News paper "The Bananas Gazette’ was published n :

(1) English

(2) Hindi
(3) Urdu
(4) Bangala
Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 53307219661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The language of newspaper ‘Swadesamitran’ was
(1) Sanskrit

(2) Tamil
(3)  Urdu
(4) Hindi
Options :
1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307219662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The language of newspaper ‘Pratap (1919) was :

(1) Hindi
(2) Sindhi
(3) English
(4) Urdu
Options :

1.1

2.2

3.3

4.4



Question Number : 76 Question Id : 53307219663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HHTER 9 ‘919’ (1919) kT wraT o :

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who started the free press of India Agency in 1927 ?
(1) Madan Mohan Malaviya

(2) S. Sadanada

(3) Lala Lajpat Rai

(4) Mahatma Gandhi

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 1927 | Wl 36 sfedl TSHl 1 JEetd fha =T ot ?
(1) WA Higd "eEd

(2) TH TR
(3) e ST T
(4) TETCHT T

Options :



1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which was the first Marathi dail}f to be publis‘h&d from poona ?

(I) Lokasangraha
(2) Shantidoot

(3) Dhyan Prakash
(4) Lokashahi
Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307219665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT H YRR B arel 9oH AUl S feferfea | 9 e o ?

(1) eieFRETE
(2) feEd

(3) HAM Ukl
(4) ATl
Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307219666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the SCP model used in the study of Media Economics, what does ‘P’ stand for ?
(1) Product

2
3
E

)

) Place

)  Performance
) Price

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

tifgan anfefat o arm & v T, (SCP) Hied P ifeyr = R
(1) 9w

(2) =™
(3) WEHH
(4) wr=E
Options:
1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307219667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On which date did the country wide classroom of UGC commence ifs telecast with one hour
educational programmes ?

(1) 19 November 1985
(2) 26 January 1985
(3) 15 August 1984
(4) 2 October 1984

Options :
1.1
2.2
3.3



4.4

Question Number : 80 Question Id : 53307219667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferve ferarer e ST (gsielt) 261 <ot sk 3 Fretfefga o 9 form fof § o o o Qafirs
HTHW T YA T I o ?

(1) 19 TR 1985
(2) 26 S 1985
(3) 15 ST 1984
(4) 2 3R 1984
Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307219668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who wrote the semind book ‘Public Opinion” published in 1922 ?
(1) Edward Bernard

(2) Walter Lippmann

(3) Harold Lasswell

(4) Joseph Pulitzer

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T4 1922 § WeRIT wifeies T ufeeteh SAfafaa’ o1 orad fereH fohan ?

(1) UaE s
(2) are fagi
(3) TeE AmEad
(4) SEHE Yo

Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307219669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One of the best known Reading Ease formulas developed in 1948 was developed by whom ?
(1) R Flesch

(2) H Evans

(3) P. Lazaersteld
(4) W. Schramn
Options:

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307219669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 1948 H ferehiee Qe 967 (S1=F) T G | 9 T 1 Jareq e fa o ?
(1) 3 W

() TN

(3) . ol

(4) T I

Options :
1.1
2.2
3.3



4.4

Question Number : 83 Question Id : 53307219670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 2010 meeting of the European Summit on measurement which adopted a statement of principles
to guide measurement and evaluation of public relations is known as :

(1) Madrid Declaration

(2
(3
(4

) Paris Declaration
) Geneva Declaration
) Barcelone Declaration

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i 2010 1 T Haieh T For e %1 e, forel o vl & W o e ) e
o g 1 e fer T, o FE G

(1) #fge s
2) frﬁwﬁw
(3) e
)

4 mmammn

Options:
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a common reliability coefficient ?
(1) Correlation coefficient

(2) Croubach’s Alpha
(3) Standard Deviation
(4) Mahalanobis Distance
Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307219671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea § 4 amr favegad ToniE S 918 2

(1) HEHY oM
(2) TR STH
(3) | fer=eH
(4) Werred gl
Options:

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307219672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘News 1s sumething smmebod}F somewhere doesn't want pn’nted. All the rest is Advertising’. This
statement 1s atiributed to ;

(1) Lord North cliffe
(2) Tom Wolfe

(3)  Bill Rosenthiel
(4) M.V. Kamath

Options :
1.1
2.2
3.3



4.4

Question Number : 85 Question Id : 53307219672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" T U 9 e e o T ol 9 e e A R | g i o i e
ferA M 21"

TH Fe et o § R €

(1) arémﬁhw

(2) <M

(3) ﬁaﬂmﬂa
(4) T, F
Options :
1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307219673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Orson Wells, film Citizen kane is based upon the career of :

(1) Harold Evans

(2) Andrew Morton

(3) William Rudolph Hearst
(4) Hamilton Wright
Options:

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307219673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e dorg i foren g o freifera o 9 fores s W amnfia €7
(1) e zod

(2) Ugg A

3) faferam ¥2ew 2=
(4) efreed e
Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307219674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book "The Structure of Scientific Revolution was written by :
(1) Klaus Krippendorff

(2) Harold Lasswell

(3) Thomus Kuhn

(4) Devis Mc Quail

Options:
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307219674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘T T HATF AEfefthe REcgyH ' I&a® & oE® & ¢ 7

(1) g BRoFETh
(2) ®eE AEad
(3) AHYE Ped
(4) =foq Agww
Options :
1.1
2.2

3.3



4.4

Question Number : 88 Question Id : 53307219675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the originator of the thenr}r of orientalism ?
(1) Noam Chomsky

(2) Edward Said

(3) Roman Jakobson
(4) Donald Shaw
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307219675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FAftuvefasy fagia =1 yads f=fafas § § #F 872

(1) " =Rt
(2) TS TR
(3)  UHA SiReEA
(4) eFEE
Options:

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307219676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the term Mc Donaldization ?
(1) Marshall McLuhan
(2) Neil Postman
(3) George Ritzer
)

(4) Claude Shannon

Options :



1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219676 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(1) wfel Hehele
(2) e grReHd
(3) Sl fies
(4) FATS I
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219677 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which type of research a necessarily involves the collection of data at different points of time ?

(1)
(2)  Cross sectional Research
(3)
(4)

Lnngimdinal Research

Focus Group Discussion
Discourse Analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219677 Question Type : MCQ Option Shuffling : No



fafum Fre-guel o 9o Heherm # afarda: e SFEYE #1 YE S 9 €7
(1) e ST

(2) ST STTHYH
(3) <hf=d T Sl
(4) Towst forgerao

Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Films and TV shows produced by Walt Disney studio in ascending order
according to the year of first release.

(A) Cinderalla

(B)  The Mickey Mouse Club
(C) The Jungle Book
D)

(

Snow white and Seven Dwarfs

E) Mary Poppins
Choose the correct answer from the options given below :
(1) (A), (D), (E), (B), (C)
(2 (E), (4), ©), (B), (C)
(3) () (A), ®) &) ©
(4) (), (E) (A), (), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o fet e g e Frfi e o 24, 090 7 o et 1 3 e i e
e o

(A) forga
(B) & el W3y e

(C) 39T

(D) I e TE T W g

(E) W Tftg

A fou T forred ® W SR A T I ;
(1) (A) D) E ®) C)

@ © (A), D) @) (C

(6) D) (&) @) () ©

@ (@), () (4) €, D)

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 53307219679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following books, in ascending order of the year of first publication :

(A) Risk Society : Towards a new modernity by Ulrich Beck.

(B) Simulator and Simulation by Jean Baudrillard.

(C) The Liquid Modernity by Zygmunt Bauman,

(D) The Rise of the Network Society, The Information Age Economy, Society and Culture
Volume 1 by Mussel Castlles.

(E) Making sense of Al': our Algorithmic World by Anthony Elliott.

Choose the correct answer from the options given below :

0 )6 0 0) @

) (4),(D) ) (O) €

(E), {

Options :
1.1
2.2



3.3
4.4

Question Number : 92 Question Id : 53307219679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feffian e 1 3T TayYw YR o STRTE! AT STafted Ff

(A) e W : Zoed U e - Sl o |

(B) et 8 favgee - T aghenc |

(C) & fefore Wete - e sigiere |

(D) T V3R 5% < Feoeh SN, < SRHHYM U ¢ SR, S U woen, a6 1 - WHe e |
(E) W ¥ S TS : SR Tl e - UM sl |

4 fou U forshed H | WE I A T Hh ;

(1) (A), (B), ©), D), ()

(2 (A) (D), B), (), ()
(3 D), (C), (E), (A)
(

)
4 () (4 D)) E

(A
) () D) (©
) (B),(A), (D)
Options :
1.1
2.2
3.3

4.4

Question Number : 93 Question Id : 53307219680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps sequentially, in an analytic induction strategy of hypothesis construction
and data analysis, beginning with the first step and continuing till the last step.

(A) Study other cases until the hypothesis is in refined form.

(B) Study a case to see whether the, hypothesis works. If it doesn't work, reformulate it.
(C) Define a topic of interest and develop a hypothesis.

(D) Look for ‘negative cases that might disprove the hypothesis. Reformulate again.

(E)  Continue until the hypothesis is adequately tested.

Choose the correct answet from the options given below :
() (), (S, (A), D) (E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA AT S G forgereer a1 orverl ot TURfG o o =0 W WY d qU S w0

FAY § ARt 0

(A) 37 TGN 1 HH O 59 T WARhCuH TR & ¢

(B) 7 v o feru foreh W o i e foF TR SR o R §1 G 9 T e o
78 . I F|

(C) eHforefel a1 ferm ST ot Ao W fershfid &0 |

(D) 3 TARTICER ekTOl 3} eTen o i Ve o e o T €| 30 P Fef ke

(E) % 7 T8 SR T S & 9 O TreuR e i & 8 K @ I

et fow 0 e o 9 e S A = I

() (), (C) (&), O) ()

@ () (@) (A) D) ()

() © E (A6 D)

(4) (), (4) €, D) ()

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 53307219681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Apps in descending order of the percentage of users who use the Apps to
share news according to Routers Institute Digital News Report 2024. Began with the most popular
to decreasing order of population.

(A) Whatsapp

(B) Instagram

(C) Facebook

(D) Youtube

(E) Telegram

Choose the correct answer from the options given below :
(1) (A), (D), (), () E)

@ () (A) C), (b) E)
() (©), (D) (A), (B) (E
(@) (®) () (4) D) ©

3
'

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307219681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR st fefweet =5 o 2024 % e fomaferfign T a1 soem e & ferw v e ol
AT 6 T o SToRIg) W  SHaEar i | 34 SHEEA o Talfeh clentd § I T g Hed
F T Syl iU ;

() =eH

(B) &M

(C) wETH

(D) o

(€) i

el feu o foreedl o 9§ W@ I A A B0
(1) (A), (D), B), ), (E)

@ O) () ©) 6) &)

(@) (C), (D), (A), (8) (E)
(4) (), (&) &), D) €
Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307219682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the ascending order of the year in which they were established.

(A) Computer Emergency Response team (CERT-In)

(B) My Gov.

(C) Unique Identification Authority of India

(D) National Informatics centre

(E) Software Technology Parks of India

Choose the correct answer from the options given below :

(1) (D),- (B), (A), (E), (C)

E), (D), (A), (C), (B)
(A4), (), (B)

C), (D), (E), (A), (B)

Options:

1.1

2.2



3.3
4.4

Question Number : 95 Question Id : 53307219682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeAfcIfEad =hl 3% IU1-a19 o IRl A H SHafd hifa
(A) TP SHGHAT 189 2 (CERT-In)

(B) HE TEAH=E

(C) Ik smee=iithepyH St 1w Sfean

(D) A9 TRH R H=X

(E) TR ZeHes IehE &% sfeal

= feu T fashedi § H W& ST A =TI Hifo ;

(I) (D) (B), (A), (E), (C)

(2) (E), (D), (A), (©), (B)
(3) (D) (E), (A), (Q), (B)
(4) (CQ), (D), (E), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307219683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following organisations in ascending order of the year in which they were established ?
(A) Films Division

(B) Publications Division

(C) Photo Division

(D) Children’s Film Society of India

(E) Directorate of Film Festivals

Choose the correct answer from the options given below :

(1) (A). (B), (C), D) (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafiaa dredi 1 ek T od & SRE SR | aftdd R ;
(A) Torery feelisq (frew gum)

(B) fectoher TeaToi (WeRma JH1T)

(C) w2l feeffsi (e g9m)

(D) facg firen T offw 3fea

() fren weiema Fewme (SEERE 31 fren i)

A= feu o fersped & W S A=A HIWC
(1) (A), (B), (O), (D), (E)
(2)  (B), (A), D), (C), (E)
@3)  (A) (B), (D), (C), (E)
@) (D) (A) (B) (O (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Acts in ascending order of the year in which they were enacted ?
(A) Cinematograph Act

(B) Cable television Network (Regulation) Act

(C) Prasar Bharati Act

(D) Press Council Act

(E) Press and Registration of Books Act

Choose the correct answer from the options given below :

() (), (D) (A), (B). (©

(2 () (A) D) (©) (B)
() (), (), (4), ©), D)
(4 (A) (E), D) (©) (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 53307219684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa st 1 3 SfufEe 9 & SR FHER Hafed Hifau ;
(A) wefea sifufm

(B) o ewilfore Heaeh (fafigmd) sifufam

(C) WHR IRt afufam

(D) ¥ uftwe sfufam

(E) U9 3R Jeeh Woreier sifufam

e feu Tu fosed § § Wal 3T TG Ffo0 ;

(1) (E), (D) (A), (B), (C)

(2) (B), (A), D), (©) (B)
@3) (B, (B) (A), (©), D)
@) (A), (E), D) (©) (B)
Options :

1.1

2.2

3.3
4.4



Question Number : 98 Question Id : 53307219685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages sequentially from beginning to end-according to the transmission

model of news learning.

(A) Learning

(B) News Item Display
(C) Actual Exposure

D)

(E)  Probability of Item Processing

Cumprehension

Choose the correct answer from the options given below :

0 © ) (A) D) E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feeifcifin storeansl 1 2 (SWIEIR) SeRTH & TR0 Hieel & AR SR ¥ 3 & AW H ot
CIE

(A) e

(B) AR e

(C) EwaoRh T

(D) e (HirEA)

(E) 9T YA 1 W

e feu o fosred # @ W SR F T Ff0

© (8), (A), (D), (E

) (A), ), D), (E)
B), (D), (C), (E),
), (C), (E), (D)

(1
2
()
4 () (©) & D)

(B (E
) | (4)
) | ()



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories and models in the ascending order of their first publication year.
(A) Shannon and weavers's mathematical model

(B) Gerbner's general model of communication

(C) Lasswell model

(D) Osgood and schramm’s circular model

(E) Dance’s Helical model

Choose the correct answer from the options given below :
(1) (A), (D), €, (B), (E

() (D) (A ®) () ©
(3 (©,(A) D) (B) ()
() (@, (D) (A), (b), (E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefiaa fagidl 3 Tieel i 37 U9 THRM 98 & 3R 3TN § Safd SHif ;
(A) I SR S 1 T wied

(B) T I WM HIR Higd

(C) el g

(D) Qe i 9w 1 T HEw

(E) ¥ 1 gelieha wiga

= fou o fomred | 9 e ST A T FIAC ;

Question Number : 100 Question Id : 53307219687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following books authored by Marshal McLuhan in the ascending order of their first
publication year.

(A) The Gutenberg Galaxy : The making of Typographic man
(B) The medium is the message : An Inventory of Effects

(C) Understanding media : The Extensions of man

(D) The mechanical bride : Folklore of Industrial man

(E) War and peace in the Global Village

Choose the correct answer from the options given below :

(1) (4),(©), O), {) )

@ O) (A ©) B) &

() ©) B) ©) () &)

@ © @) 6,0 0)

Options :

1.1

2.2

3.3



4.4

Question Number : 100 Question Id : 53307219687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el eefe g0 feian FAeaforf e %1 37 oM VoA o ST o et Fif
(A) 3T TR« 3 HFERTT AT <

(B) T Tifeam 351 g Wi : W 3 4R SR

(C) e e : ¢ TREH 4T H

(D) T Wehiael TS : AR o Sefieaa i

(E) R TS 99 3 3 el foefs

7 fou U fosredl o 9 W 3 T Fif

(1) (A)(C), D) ®) ()

(2 (D) (4), ©, (B), (E)
(3) (©)®) © ) @A)
(4 (® (&) @), (C) D)

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 101 Question Id : 53307219688 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Fundamental Rights in the ascending order of their article number in the
constitution of India.

(A) Right to freedom of religion

(B) Right Against exploitation

(C) Right to Equality

(D) Right to freedom of speech and expression
(E)  Right to constitutional remedies

Choose the correct answer from the opl'inns given below :

U (C),- (B), (4), (D), (E)
@ (©), (D) (B), (A), ()
G (A) ©, ), ©) (£
(@) ®) () D) E) @A)



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬂh@awﬁmﬁw%mn e W % ST) % H oA e :

T fou o forred § © WE W A T FIC ;
(1) (©), (B), (A), (D), (E)

@) (€, (D) (B), (A) (E
() (A) (©), B), (D) (E)
(4) (), (C) (D), (E), (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307219689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps sequential from beginning to end in a procedure for parametric
hypothesis testing in conventional communication studies.

(A) Specify the level of significance.

(B) Decide the correct sampling distribution.

(C) Calculate the probability that H is true,

(D) State null hypothesis and alternative hypothesis.

(E) Sample a random sample and workout an appropriate value from sample data.

Choose the correct answer from the Dptions given below :

(1) (©) ®) A) (&) ©

@ () (A), ®) &) ©
() () (C), (A), (B), (E)
() () (D) (@A) E) ©
Options:

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307219689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR R S W Yrelforh Waked ) e 1 Wi o Feifcifid SO 1 A9 § 37 o 79
ST I ;
(A) m‘m?ﬁwwmm

C) 39 Wiwer &1 e & f Hy 70 ¢

D) Y VRG] SIT SeHfceh TRk 1 Seerd el

E) igfese vived &1 <A 941 < vioey § 907 A e

A fou U fosed H 8 W I A T A ;

(1) ) () (4) () ©

) @ A)()()(C)
(D), (C), (A), (B), (E)

(B), D,-( ) (B ©)

(
(
(
(E)

,.-._‘_,._._‘_,..__‘_

( ))
() ()
4
Options :
1.1

2.2

—



3.3
4.4

Question Number : 103 Question Id : 53307219690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of an Advertising campaign.
(A) Developing a creactive strategy

(B) Establishing short term and long term objectives
(C) Selecting appropriate media

(D) Creating message

(E)  Outlining a plan to measure the outcome

Choose the correct answer from the Dpl‘inns given below :

(1) D) (B), (O (A) (E)

(2) (D), (O (B), (E), (A)
(3)  (A), (B), (D), (O, (E)
(4) (B), (A), (D), (C), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307219690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T sifsars & wel 1A = fafed e
(A) ESCHE TOHITT ST

(B) seUeHIfetsh e <rEieRiereh 3evd feifa =
(C) 3Uga Hifedn 1 =997

(D) W THHT (T=AT) T

(E) Oioms |19+ ok Ta7Q A1 sl 9@l Sl

A feu T ferredl ® | W& ST A =91 il
(1) (D), (B), (©), (A), (E)

(2) (D) (©) (B), (E), (A)
(3)  (A), (B), (D), (O), (E)
4) (B), (A), (D), (Q), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the ascending order of the year in which they first appeared.
(A) Voice over Internet Available.

(B) Google started as a research project at stanford university.

(C) ARPANET's first public demonstration.

(D) World Wide Web (W3C) founded.

(E) Internet protocol suite standardised.

Choose the correct answer from the optiuns given below :

(), (©) (8), (D), (&)

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freAfafad 1 37 Geluey Y § 3 F SRR FAHNER aferd it ;
(A) S IR $2H F ST

(B) W Ffafdet =1 viry uftdem & &9 § TTe #1 IRy

(C) UM I 9YH FESITEH TSI
(
(

)
D) dcE e a4 (W3C) i T
E) 32 YIeIehicl G52 1 HhIh
= fe T foehedi W 9 W ST = e
(1) (B, (C), (B), (D), (A)
(2) (), (E) (D), (B), (A)
(3)  (©), (D), (E), (B), (A)
(4) (O, (A), D), (B), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fnllnwing in the ascendjng order in which thE},F were launched.

(A) YouTube launched

(B) Facebook is launched

(C) iphone publically released
(D) Wikipedia is launched

(E) Twitter launched

Choose the correct answer from the Dptinns given below :

(1) () (D) (B), (A) ©

(2) (D) (B), (A), (B) (C)
() (A) (E), D), (B) (O
4) (B, (4), ®), ©), D)
Options :

1.1

2.2

3.3

4.4



Question Number : 105 Question Id : 53307219692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

efeTiaa =1 39k 3TRY fFd ST o STIE FHER SHaredd Fifo
(A) IS H ALY
(B) TFHEE H URY
(C) SEHM H HESTH Y FE3I
(D) Teranrdifear 1 Uy
E) feoet =i yeema
A feu 7o foshedi § | T W 1 = HIG
(1) (B). (D), (BE), (A), (©)
(2) (D), (B), (A), (E), (C)
(@) (A), (B), (D), (B), (C)
4) (E), (A), (B), (©), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 53307219693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which combination is correct with reference to features of lenses in photography ?
(A) Resolution

(B) Contrast

(C) Distortation

(D) Price

(E)  Availability

Choose the correct answer from the options given below :

1) (A), (B)and (C) orly

(B), (C) and (D) only

©, (D )aﬂd[ ) only
(

4) (D), (E) and (A) only

(
(
(3)
(4)
Options :
1.1



2.2
3.3
4.4

Question Number : 106 Question Id : 53307219693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e H o @ fodtuanedi % wed | frafafad # @ @ @ gae w@ R

(A) ol

(B) @R (T19EA)

(C) fewglevm

(D) THA

(E) 3UeTed

9 feu U ol o 9 W@ S| =TI T
(1) 5 (A), (B) ¥R (C)
(2) %9 (B), (C) R (D)
(3) 9 (C), (D) IR (E)
(4) %ad (D), (E) 3R (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307219694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which combination is correct with respect to Depth of Field in Photography ?
(A) The size of an aperture

(B) The distance of the camera from the subject

(C) The Focal length of the lens

(D) The ISO

(E)  The shutter speed

Choose the correct answer from the options given below :
(I) (A), (B) and (C) only

@) (B) () and (D) only

(3) (C), (D) and (E) only

(4) (D), (E) and (A) only

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307219694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PR H B e (39 A wes) ¥ Hed  ffafen § A 9 m A w87
(A) HTE (GF) 1 SRR

(B) 99 FH G

(C) ¥ ! Wehet o1

(D) % TH &

() X F T

A feu T foeedi § 9 WE ST F T U

(1) 9 (A), (B) 4R ()

() A (B), (C) 3 (D)
() 9 (C), (D) & (E)
(4) % (D), (E) R (4)
Options :

1.1

2.2
3.3



4.4

Question Number : 108 Question Id : 53307219695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What combination is correct with respect to qualities of light ?
(A) Light can be bent

(B) Light can be refracted

(C) Light contains colours

(D) Light does not travel in straight line

(E) Light is not a form of energy

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only

(2) (B), (D) and (E) only

(3) (A), (B) and (C) only

4) (C), (D) and (E) only

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 53307219695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIS kI O o Ged H UE WA i | ¥ 2
(A) T I |G ST Gkl &

(B) Rl Tl S7qafda fepan <1 Wehan ©

(C) W H 7 siafae 2 €

(D) WERTY Tielt T # e g ©

(E) WY ol %1 YR 7l ©

= feu 7o fasedi § 9 |E 3T F 99 FHIf9Q
(1) ad (A), (D) &R (B)

(2) %9 (B), (D) 3 (E)

(3) A (A), (B) #R (O)

(4) a9 (C), (D) 3 (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which statements are correct with respect to photography ?

(A) The shutter controls the amount of light by the length of time it remains open.

(B) The fast shutter speed can freeze a motion.

(C) The aperture doesn’t control the amount of light.

(D) The aperture doesn’t control Depth of field.

(E)  There is only type of shuter.

Choose the correct answer from the options given below :

(1) (C) and (D) only

(2) (D)and (E) only
(3) (A)and (B) only
(4) (A)and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 53307219696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR o Hatl H % U FoF Tel § 7

(A) & TS99 qumEfy qek Gl T8d1 § qe qeh TR <kl A (b Fd e
(B) ¥R ! e =e T ht FRer o kel B
(C) A= BT i WA B T P e g
(D) 3T BT Torst TTeeten o1 s i e €
(E) YU 9 T & T HI &l ¢

A e Tu faskedl § ¥ Wel 3R F 5 HC ;
(1) e (C) ¥R (D)

() 9 (D) & (E)

(3) I (A) R (B)

(4) a9 (A) 3R (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307219697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which statements are correct with respect to design principles of cinematography ?
(A) Balance

(B) Visual tension

(C) Rhythm

(D) Shadow

(E) Light as visual metaphor

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

2) (), (B) and (B) only

) (), (B)and (C) only

(@) (), (D) and (E) only

Options :
1.1
2.2
3.3



4.4

Question Number : 110 Question Id : 53307219697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g (fqrRemeT) & sfveey fagit & gedf § frrfofas & 8 $7 9 R 781 7

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Newcomb's tripartite communication model 1s consisting of

(A) L
(B) A
€ B
D) X
E) Z

Choose the correct answer from the options given below :
(1) (), (C) and (D) only
(2) (A)and (E) only

(3) (A), (D) and (E) only
() (), (D) and (E) only



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=qtea 3 P i Tz § wifte ¥
(A) L
(B) A
(C) B
(D) X
(E) Z

91 e U faeredi & 9 W& S 1 = F
(1) <9 (B), (C) 3 (D)
) had (A) IR (E)
(3) ad (A), (D) 3R (E)
) %9 (B), (D) 3R (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 53307219699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The correct combination of the year of Journalist Ganesh Shankar Vidyarthi's birth and demise is :
(A) 1890

(B) 189

(C) 1940

(D) 1931

(E) 1920

Choose the correct answer from the options given below :

(I) (A)and (D) only

(2) (A) and (B) only
(3) (B) and (C) only
(4) (D) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 53307219699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR O] VieR ferenelf & 51 vd e o et g Frefataa § § @ Y
(A) 1890

(B) 1895

(C) 1940

(D) 1931

(E) 1920

A9 fou o fosredl § | WE SW 1 =77 Fifow
(1) ad (A) 3 (D)
(2) ad (A) ¥R (B)
(3) @ (B) ¥ (C)
(4) <A (D) ¥R (E)
Options :

1.1

2.2

3.3

4.4



Question Number : 113 Question Id : 53307219700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct combination of the year of establishment of second press commission and its
chairman,

(A) 1978

(B) Justice KK. Mathew

(C) 1969

(D) Justice Markanday Katzu

(E) Kuldeep Nayyar

Choose the correct answer from the options given below :
(1) (A) and (E) only

(2) (C) and (D) only
(3) (A)and (D) only
(4) (A)and (B) only
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307219700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

figerr S ST 1 e A S I9k sTeme 3 g fewifed St
(A) 1978

(B) wI=q &% fegg

(C) 1969

(D) SIF=H AU e

(E) e 42

1 few T fasedl @ W R T i

(1) ad (A) IR (E)

2) @ (C) ¥R (D)

3) e (A) ¥R (D)

(
(
(4) O (A) 3R (B)



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct combination of innovative ventures and launched by which company ?

(A) e<houpal

(B) Mahindra
(C) ITC

(D) Royal Enfield
(E) e-mail

Choose the correct answer from the options given below :

(1) (A)and (B) only
@
("F
(

i

\) and (D) only

[

)}

(A)

3) (A)and (E) only
4) (A)and (C) only
Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307219701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



F G WRY A=l 9 1 HWel I HiH 9182
(A) F-3T9A B

(B) Hiew=l

(C) eEerEt

(D) A THcS

(E) 3-Hel (e-mail)

= fou U fawedi § 9 W& 3 1 999 Hifa
(1) < (A) 3R (B)

(2) A (A) 3R (D)

(3) A (A) R (E)

(4) A (A) 3R (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307219702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Bait-and-switch adverlising occurs when the advertised gnods and service are :

(A) Not reached to the market

(B) withdrawn from the market

(C) and duplicates are supplied

(D) and substitutes are put in place

(E) Over supplied in the market

Choose the correct answer from the options given below :
(1) (B)and (D) only

(2) (A)and (C) only
(3) (E) and (D) only
(@) () only
Options :

1.1

2.2

3.3



4.4

Question Number : 115 Question Id : 53307219702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Je-Ue-fom eaterfs 79 gfed 2 € @ faafia awe v 9an
(A) SR H T4 | T o |

(B) @R ¥ %21 & TS 2 |

(C) @ kel <1 =g & &l 2 |

(D) TN 39 T W 376 faheq W@ T B |

(E) <R H a1fa amyfd 2

T feu o fawedi § | Qe 3T 1 =9F HIfT
(1) 9 (B) 3R (D)
(2) A (A) I (C)
(3) ad (E) 3R (D)
(4) Fe ()
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307219703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The AIDA model of Advertising 1is :
(A) Amazing, Distance

(B) Autonomy, Distance

(C) Desire, Action

(D) Information, Discussion

(E) Attention, Interest

Choose the correct answer from the options given below :
(1)  (B) only

(2) (A) and (B) only

(3) (E) and (C) only

(4) (A)and (D) only



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307219703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fama =1 T g €1 U (AIDA) Hied ® ¢

(A) foomesr, gy

(B) EATAAI, T

(C) T, T

(D) F=, e

(E) 3smaum, sthwefa

= feu T fashedi § H W& ST A =TI Hifo ;
(1) %99 (B)

(2) FFd (A) FHR (B)
(3) %9 (E) ¥R (C)
(4) FFA (A) R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 53307219704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Disadvantages of siratified sampling is :

(A) Comparisons can be mode to other population.

(B) Knowledge of the population prior to selection is required.
(C) Selection is made from a homogeneous group.

(D) Variables that define strata may not be relevant.

Choose the correct answer from the options given below :

(I) (A)and (B) only

(2) (B) and (D) only

(3) (©) and (D) only
(4) (A) and (C) only
Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 53307219704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ra fd=a= &1 2 ar €

(A) o gufed ¥ gal ol 1 Fehdl © |

(B) I % Ud W % A SATEYIF BT G |

(C) TuRTE §9E ¥ 997 fofan 5 € |

(D) T =1 ufenfod 9 o =% g @ 8 g €
== fau e fasredi | W@ I 1 = FIN

(1) A (A) 3R (B)

(2) 9 (B) 3T (D)
(3) %=d () ¥R (D)
(4) e (A) ¥R (C)
Options:

1.1

2.2

3.3

4.4



Question Number : 118 Question Id : 53307219705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The newspapers not edited by M.K. Gandhi Ji.
(A) Gujrat Darpan

(B) Indian Opinion

(C) Vande Mataram

(D) Navjivan

(E) Young India

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A)and (C) only

(4) (C) and (D) only

Options:

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307219705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefiaa & ¥ 5 ¥ GuER 93 U9, T grRy gafed 72§ 2
(A) TR T

(B) zfema sifufm

(C) &< W

(D) FEsieA

(E) = sfea

= feu TTu foepedl § 9 W&t 3T =5H HIA

(1) e (A) 3R (B)

(2) 9w (B) #IR ()
(3) FEA (A) 3R (C)
(4) e (C) 3R (D)
Options :

1.1



2.2
3.3
4.4

Question Number : 119 Question Id : 53307219706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a broad sense, the aims of Public Relations are to -

(A) Change or neutralize public opinion

(B) Crystallize unfarmed opinion

(C) conserve positive public opinion

(D) Praise top management always

(E) Bribe Journalist

Choose the correct answer from the options given below :

(1) (D), (E) and (A) only

(2) (D) and (E) only

(3)  (A), (B) and (C) only
4) (C), (D) and (A) only
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307219706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



=9eF 1f § o T F YT E
(A) SFHA A FeguE = gftafaa
(B) eifesrfad wa =1 ffvea w9 <
(C) HhRIHE SH-Hd hT HL&

(D) Ted ¥ YEed i T S
(E) TR o fgad &

= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) =@ (D), (E) 3R (A)

(2) =@ (D) 3R (E)

(3) %ad (A), (B) TR (C)

(4) %@ (O), (D) 3R (A)
Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 53307219707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of these newspapers published in Hindi ?

(A) Mathrubhumi

(B) Bangadoot

(C) Tarun Bharat

(D) Amrita Patrika

(E) Hindu Weekly

Choose the correct answer from the options given below :

(1)  (A), (B) and (D) only

(2) (B), (C) and (D) only
(3) (B), (D) and (E) only
(4) (C), (D) and (E) only
Options :

1.1

2.2

3.3



4.4

Question Number : 120 Question Id : 53307219707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o vepiforg gum=R v Fefefea S FR 9 €
(A) WY

(B) e

(C) T&EI 9

(D) =T Ui

(E) feg olrehed

= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) ad (A), (B) 3R (D)

(2) %= (B), (C) @R (D)

(3) %9 (B), (D) ¥R (E)

(4) %99 (C), (D) ¥ (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is the part of editorial department in a newspaper setup ?
(A) Chief correspondent

(B) Feature writer

(C) H.R. Manager

(D) Circulation manager

(E)  Production manager

Choose the correct answer from the options given below :

(1) (C) and (D) only

2) (C) and (E) only

3) (D) and (E) only

(
() (D)and(
(@) (A)and (B) orly



Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR 73 gfaer o guea fauam & i frefafea © § #h 82
(A) = HAEE

(B) THITR e

(C) TA.3R. Yot

(D) YER Jaeh

(E) SRA YaUEH

= feu 7o fasredi § | Wl ST F T9H Fife
(1) e (C) 3R (D)

(2) %= (O) 3N (E)

(3) e (D) 3R (E)

(4) A (A) ¥R (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 53307219709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The main functions of the editorial department are :

(A) Advertorial writing

(B) Selection of lead articles

(C) Editorial writings

(D) Circulation of newspapers

(E) Gathering of news

Choose the correct answer from the options given below :

(1)  (A), (B) and (C) only

(2) (B), (O) and (D) only
(3) (A), (D) and (E) only
(4) (B), (C) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307219709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wﬁﬂﬂ'ﬂﬁw#g@?ﬂﬁ%:

(A) Torsmae-—oia fomam

(B) W= W@ FHI A

(C) HURHH @A

(D) HHMER %1 98 R (farsl)

(E) THMER THA FT

A few T farehedi & | GE ST = HIE
(1) = (A), (B) ¥R (C)

(2) ¥d (B), (C) 3R (D)
(3) e (A), (D) ¥R (E)
(4) 9 (B), (C) 2R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 123 Question Id : 53307219710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

has pmvided a dedicated platform as a personal space for storage, sharing
and verification of documents and certificates, thus it is helping in eliminating use of physical
documents.

(A) Facebook

(B)  Digilocker

(C) E-mail

(D) Cloud based

(E) Instagram

Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A)and (C) only
(3 (A) and (B) only
(4) (A) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 53307219710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Terg! q T T % SERU, WeyH a4 T & fofu A T wufia TR
ver fo & Fored 7 ifier oeamael o it yam o e o 2

7 fou o fomred B WE S0 @ TH w9
(1) e (B) &R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct combination to cnmplete the Norbert Wiener's work cybemetics - or control and
communication in the and

A) Man
B) Woman

(
(
(C) Animal
(D) Child

(E) Machine

Choose the correct answer from the options given below :
() (D) and (E) only

(2) (C) and (E) only
(3) (A) and (B) only
(4) (B) and (D) only
Options :

1.1



2.2
3.3
4.4

Question Number : 124 Question Id : 53307219711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A A 3 T 5 9 U A 3 g L& A
1 9 ot & g 1 = A

(A) ™

®) T

() i

(D) +weE

(E) i

7 few o ol o 4 W W T
(1) A (D) 4R (E)

(2) A (C) 4 (E)

(3) A (4) R (B

(4) o (B) & (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307219712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The sentence which defines the ‘caption’ used in newspapers is and/or
(A) Elucidation of an image
(B) Black and White image
(C) Mlustration of an image
(D) High resolution image
(E)  Defocused image

Choose the correct answet from the options given below :
(I) (A)and (C) only

0 (0)and () only
O (8)and ) only
(4) (B)and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307219712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR T N Y ' ) TR R A a R/ {
A) ot ot o1 eqedie

(1
(2
()
(4)

Options :
1.1
2.2
3.3



4.4

Question Number : 126 Question Id : 53307219713 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List - 1
(Director)
(A) Shyam Benegal
(B) Sai Paranjpe
(C) Satyajit Ray

(D) Bimal Roy

(D
(11)
(1)
(IV)

List - 11

(Films)

Chashme Baddur
Pather Panchali
Sujata

Nishanth

Choose the correct answer from the options giv en below :

(1) (AL, (B)-(ILL), (C)-(1), (D)-(IV)

(2)  (A)-(I), (B)~(11), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)(D), (C)-(I), (D)-(II)
(4) (AL, (B)-IV), (O)-(I), (D)-(L)
Options:

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 53307219713 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



o - 1 % 9 gt - 11 3 e i

Tl - 1 -0
(o ) ( forem )
(A) v I (D = R
(B) HE e (I)  9TER i=rel
(C) wafdd ¥ (III) gGsTre
(D) fover U3 (1vy fem=

= feu 7o fasedi § 9 W& I F 994 Ff9C
(1) (A)(I), (B)}-(LI), (O)(II), (D)-(IV)
(2) (A=), (B)-(1L), (O)-~(1), (D)-(IV)
(3)  (A)-(LV), (B)-(D), (C)-(IL), (D)~(I1L)
4) (A1), (B)-(IV), (O)-(UL), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307219714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Film) (Director)
(A) 400 Blows (I) Jean Luc Godard
(B) Psycho (II) John Ford
(C) Breathless (II) Alfred Hitchcock
(D) Stage Coach (IV) Francois Traffaut

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(ILD), (O)-(I), (D)-(IV)

(2)  (A)-IV), (B)-(D), (C)-(I), (D)-(II)

(3)  (A)-(IV), (B)-(IIL), (C)-(D), (D)-(1I)

(4)  (A)-(IL), (B)-(IV), (C)~(I), (D)-(IT)

Options :

1.1



2.2
3.3
4.4

Question Number : 127 Question Id : 53307219714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 o W1 gt - [ 3k Ao =wife

el - 1 gt - 1

( ftrem ) (o)
(A) 400 =" () <41 g% Mers
(B) T (I [ EE
(C) wUem (IIl) #Fehe feawis
(D) WIHE (IV) YeaTsd SWhie

A= fou 7 fasredi 9 W& ST A = HIS
(D) (A1), (B)-(), (©)-0), (D)-(IV)
(2)  (A)HIV), (B)-(I), (C)-(I), (D)-(IT)
(3)  (AHIV), (B)-(IL), (O)-(I), (D)-(IT)
(4) (A, (B)-(IV), (C)-(I), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I
(Institutes) (City)
(A) AJK MCRC JMI (I)  Noida
(B) Asian Academy of film and TV (I} Lucknow
(C) Bhartendu Natya Academy (Il) Pune
(D) FTO (IV) New Delhi

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(LLI), (O)-(IV), (D)-(II)
(2) (A, (B)-(1V), (O)-(D), (D)-(II)
(3)  (A)-(IV), (B)-(D), (C)}-(II), (D)~(I1I)
(4)  (A)-(II), (B)~(I), (O)-(IV), (D)-(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt - 1 & 919 gl - 11 %1 7ol =i

et - 1 gt - 11
(| ) (9TE)
(A) W . . UHHTSARH], S fofemn seenfean () AiEn
(B) TR eeRTEH! A fhen U 2 () &S
(C) YRd= 2T STehTSH (1) o
D) UFREIARSE (Iv) =% feeet
Ao fou U foshedi W § WEl 3T FIH HITU ;

(1) (A)-(), (B)-(II), (O-(IV), (D)-(IT)
(@) (A)ID, B)-(IV), (O-@), (D))
3 (A)-IV), (B)-(D), (CR(I), (D))
@) (A)-L), (B)-(I), (O-(1V), (D)-(1T)

Options :
1.1



2.2
3.3
4.4

Question Number : 129 Question Id : 53307219716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(Book) (Author)
(A) In the blink of an eye (I)  Satyajit Ray
(B) 5Cs of cinematography (II) SYD Field
(C) Deep focus (II) Josph V. Mascelli
(D) Screenplay writing (IV) Walter Murch

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(I), (O)-(D), (D)-(10)
(2)  (A)-(I0), (B)~(11), (C)-(IV), (D)-(I)
(3) (A1, B, (©-), (D)-1V)
(4) (A)-(I0), (B)(1V), (O)-(1I), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1 % W9 G - 1 3k 7o it
el - 1 et - 10
(T ) ()
(A) ¥ T fooieh o O of (1) Geafse 3
(B) 5 Hi'g 3ffw fa=iermR () THEEEl Hes
(C) <9 HIFT (1) <M o, B
(D) BRIt T (IV) ot 74
= fou U faespedi § 9 W& I 1 =G HifoQ ;
(1 (A)-1V), (B)-(IL), (CO)-(1), (D)-(IL)
(2)  (A)-(), (B)-(ID), (©)-(1V), (D)-(0)
(3)  (A)-(ID), (B)-(1D, (©)-@), (D)-IV)
(4) (A, (B)-(IV), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-1 List - I

(Author) (Book)
(A) Simon, R. (I)  Public Relations : what the research tell us
B) Rust, R.T. [I) Advertising Management

& b

Pavlik, [.V. [} Advertising media models
(©) g
(D) Leckenby |. and Wedding, N.  (IV) Public Relations : Concepts and practices

Choose the correct answer from the options given below :
(1) (A, (B)(IV), (C}I). (D})

(2) (AN, B)-IV), (C-ID), (D))
() (A)M(IV), (B)-(I), (C(1), (D))
(4) (A}, (B)-1V), (C)-(T), (D)-(I)
Options :

1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 53307219717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el - 1 % 99 gl - 1 %1 A e

it - 1 et - 11

(e ) QCy
(A) WEHA, 3, () fees fetyry : = § fgH 2a o™
(B) T, N3 (I) TSRS A=
(C) urafera, 9.4 (W) weaerRfem Hiear Aeey

(D) okl o, AR AfET, T, (IV) dfecrss Feery : Faey Ug JRed
et fou U fosred 9 Wel ST TG FfoU ;
(1) (AR(I), (B)-(IV), (O)-(I), (D)-(I)

(@) (AR, B)-{IV), (C)-(), (D))
(3)  (A)IV), (B)LIL), (CO)-(I), (D)-(IT)
(4) (A1), B)-[V), (©-(1), (D)-{1)

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307219718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I
(Name of Scheme/Act/Program)
Samagra Shiksha Abhiyans

Right of children to free and
compulsory Education (RTE) Act
Global Initiative for Academic
Network (GIAN)

Digital Infractors for knowledge
sharing (DIKSHA)

List - II

(Year of Starting/Establishment)
() 2009
(I) 2015

(1) 2017

(IV) 2018

Choose the correct answer from the options given below :

()
(2)
(3)
(4)

(A, (B)(L), ©)-{1V), (D)-0)
HIV), (B)1), (O-(I), (D))
(1D, (B)-(t0), (C)-(), (D)-1V)
( )

(A
(A
(A1), (BHIV), (CHI), (DI

)
A)

Options :

1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt - [ W9 Gt - 11 1 e =it

Tt -1 Tt - 11
( T/ rfrfoem / shrdeRm o AT ) (A / TTTeT 7Y )
(A) |7Y ol () 2009
(B) T:qeeh &R sif+amd arer frem (I) 2015
1 SRR SAUfTIH (RTE)
(C) TelEe SHIRILfUS W SRS (1) 2017
A2a% (GIAN)
(D) fefSted s2hgaar R st (IV) 2018
oA ()
= fou T fosredl § § WE ST TH HiWC ;

(1) (A)-I), (BHID, ©Q)-{1V), (D)-)
(2)  (AHLY), (B)I), (CHL), (D)-(IL)
(3) (A1), B)-(D), ©)-1), (D)-(IV)
(4)  (AHD), BHIV), (CHL), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - 1I

(Name of Scheme/Program) (Year of Starting/Establishment)
(A) National Informatics Centre (NIC) () 2019
(B) National Broadband Mission (NBM) (I) 1978
(C) Bharat Sanchar Nigam Limited (BSNL) () 1976
( (IV) 2000

D) Telecommunications Consultants India

Limited (TCIL)
Choose the correct answer from the options given below :
(1) (AHIV), (B1), (CHI), (D)-(I
(2)  (AML), (BRI, (CHIV), (D))
(3) (A, (B-(T), (CHIV), D}(T)
(4)  (AMID), (B)-(I), C)-1V), (D)-(1)
Options :
1.1
2.2

3.3
4.4

Question Number : 132 Question Id : 53307219719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 919 el - 11 1 e #hifa

gt - 1 Tt - 11
(ST / HTRT T W ) ( AT/ QT T 9 )
(A) TS TR §= (THTEH) () 2019
(B) T FrEoiE fAvM (THEm) (I 1978
(C) Rd R fm fafiree (sirguaua) (Il 1976
(D) eiEPIfTRT Feceed Sfem fafes (1) 2000
(Sreemeue)
= T T foredl # | WE IR =TI R

(1) (AHLV), B)1), (€KL, (D}(I)

(2)  (AHI), (BRI, (OAIV), (DI
(3)  (AHI), (B-1), (CHIV), D)-(I)
(4) (A, B, (©)-(1V), (D)-()



Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the following institutions with its year of establishment.

List - I List - I
(Institutions) (Year of establishment)
(A) Audit Bureau of cirulation (I) 1939
(B) Advertising Agencies Association of India  (I) 1941
(C) Indian and Eastern Newspapers Society (III) 1948
(D) Indian Languages Newspapers Association (IV) 1945

Choose the correct answer from the options given below :
(1) (A, (B)-(IV), (C)-(1D), (D)-()

(&) (AHD), (B(I), (CHII), (D)-{IV)
(3) (A, (B)-(I), (C)-(), (D)-IV)
(4)  (AHI), (BHIV), (C)H(I), (D}(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307219720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1% W G - 11 3 e i
et - 1 T - 11
(wEer ) ( TTOT 99 )
(A) difee 90 F HehelvH (I) 1939
(B) USaerEfeT TordTel UHIFqUyA 1% gfea (I) 1941
(C) 3fedd Ue ke geuud FEr (L) 1948
(D) 3fead oy ey THIETE (IV) 1945
A<t fau e foskedi ® § WE IW H T FHIC
(1) (A)-(Im), (B)-(IV), (C)-(1T), (D)-()
(2)  (A)-(1), (B)-(IT), (C)-(IID), (D)-(IV)
(3) (A)-Im), (B)-(I), (CR(1), (D)-(IV)
(4)  (A)-(I), (B(IV), (C)-(1), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 53307219721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - 1 List - 1I

(Name of Scheme/Act/Program) (Year of Establishment/Starting/Launching)
(A) Pandit Madan Mohan Malaviya () 191

National Mission on Teachers and

Teaching (PMMMNMTT)

(B) Systemic Assimilation of Media Views (I) 2015
for Decision Making (SAMVAD)

(C) National Skill Development Mission () 2014
(D) National Council of Educational Research ~ (IV) 2020
and Training (NCERT)

Choose the correct answer from the options given below :
(1) (AJ), (BRI, (C-(IV), (DM(I)
2) (A, BM1V), (CH), D)1
3) (A0, (B)-(1v), (C-(1), (D)
{

@ |
(3 (@A)
() (AHLV), (BHI), (CH{IL), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 53307219721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt - 1 o 19 G - 11 1 e i

T - 1 Tt - 11

(Fra / arffam / Seww A ) ( T/ 3EH / W 9 )
(A) dfed 7eA Hied WeEg T e e () 1961

A (PMMMNMTT)
(B) feenfed THIfHe #iw Hifed oW () 2015

i fedem AfeET (FaR)
(C) T et foskrg firem (1) 2014
(D) T Afeer SAFHYM T gRe oie (IV) 2020
(NCERT)
A fe T fershedt o @ W S A = S

(1) (A){D), (BRI, (CHIV), (DII)
(2) (AR, BHIV), (OAL), (D)-0)
() (AHID, B-IV), (O-(0), (D}II)
(4)  (AHIV), (BI1), (C)-(LL), D})

4
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(Author) (Book)
(A) Williams, F. (I)  Propaganda technique in the world war
(B) Lasswell, H.D. (II) Communication Research : Issues and Method
(C) Anderson, J.A. () Communication Research : The challenges of the
information age

) Sharp, N.W. (IV) Research Methods and the New Media

(D
Choose the correct answer from the Dpl’lUI}‘S gwen below :

(D) (AHD, BHIV), €I, (D))
(2)  (A)(M), B)-D), C)-(1), (D)-1V)
(3)  (AHI), (B, ©)-(1), (D}IV)
(4)  (AHIV), (B)-I), (C)-(I), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 53307219722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 o 919 et - 11 1 el s .

gt - 1 et - 11
( oTE ) ()
(A) faferag, T (I) WIHel ST 39§ 9o av
(B) g, THEL (I) FHFEHIA fEE : 3999 g WUy
(C) T, AT () FPfeR R : 3 e 3 § SHMIA O
(D) ¥, .3, (1v) fo By g @ e
= fou o foredi 9 W& IR B F7H HIf0
(1) (A0, BRIV), (CH(I), (D)-(Im)
(2)  (A)-(I), (B)-(Im), (C)-(), (D)-(IV)
(3)  (A)-(I), (B)ID), (©-(1), (D)-(V)
(4)  (AR(IV), (B}I), (C}(I), (D)-(m)

Options :



1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307219723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) Satajit Ray Films and TV Institute of India (I) Ahmadabad
(B) Mudra Institute of Communication () New Delhi
(C) Indian Institute of Mass Communication (IIT) Chennai
(D) Asian College of Jouralism (IV) Kolkata

Choose the correct answer from the Dplmns gwen below :

(1) (A)-(V), (B)-(I), { -(ID), (D)-(1I)
(2 (A)-(), (BHIV), (C)-(1D), (D)-(0)
(3) (A1), (B)-(IL), (©)-(D), (D)-(IV)
4 (A)-(D, (B)-IV), (O)-(I), (D)-(IL)
Options:

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307219723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gl - 1 919 gei - 11 =1 e s

et - 1 g - 11
(A) TAfSd ¥ 9 hen & 2aifasH JedM () eTEHSHETS
(B) TR TG S F(TRM () =% feee
(C) YR SHEER HeH (1) <=8
(D) UREA FHS ATH SHicRH (IV) hicTehTal
T feu 7o foepedi § | W& 3T T 92H ST

(1) (A)-(V), (B)-(I), (C}-(II), (D)-(IT)

(2)  (A)-I), (B)-(IV), (O(II), (D)-(I)
(3)  (A)-(I0), (B)-(IL), (O)-(1), (D)-(IV)
4) (AMID, (B)-(IV), (O)-(), (D)-(1I)

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 53307219724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Editor/Associate) (Newspaper/Magazine)
(A) Bal Gangadhar Tilak () Bande Mataram
(B) Aurabindo Ghose (II) National Herald
(C) K. Rama Rao (III) Navjivan
(D) C. Rajagopalachari (IV) Kesari

Choose the correct answer from the options given below :
(1) (A)-D), (B}-(LI), (CO)-(IV), (D)-(II)

(2)  (AHIV), (B)-(I), (C)-(IL), (D)~(IIT)

(3) (A1), (B)-(D), (CO)-(I), (D)-IV)

(4) (A)-(I), (B)-(ID), (C)-(I1V), (D)-(T)

Options :

1.1

2.2



3.3
4.4

Question Number : 137 Question Id : 53307219724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et - 1 o W19 gt - 11 1 fer sife

el - 1 el - 11
(HUTEe / TR %1 W) ( =TT O / iRt )
(A) e TR foew (I) 9= AW
(B) afers =W (1) ¥ B0ee
(C) . T Td (1) Aarsired
(D) . TR (IV) F84
e feu U fagedi  § W ST T FifSC

(1) (A1), (B)-(I), (CO-(IV), (D)-(1)
(2)  (AHIV), (B)H(D), (C)-(1D), (D))
(3) (AN, (B)-(D), (O-@), (D)-(V)
(4) (A1), (B)-(1D), (©O)-1V), (D)-()

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Jurgen Habermas () Hot media/Cold media
(B) Marshal McLuhan () Personal Influence
(C) Stuart Hall (IlI) Communication Action
(D) Paul Lazarsfeld (IV) Encoding/ Decoding

Choose the correct answer from the options given below :
(D) (A1), (B)-(I), (O)-(1V), (D)~(1II)
(2)  (A)-(), (B)-(IV), (C)-(I), (D)-(I)
(3) (A, (B)-(I), (O)-(IV), (D)-(II)
(4)  (A)(1D), (B)-(T), (O)~(IID), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl - 1 % 91 g - 11 fres #if

e -1 T - 1
(A) SR TeRE™ () e difear/Fiee Hifem
(B) Wi HEFaleH (I) =l g9
(C) W3 T (III) HHAARIA THH
(D) Yl TeTE%ee (IV) RIS/ EeRfEn

e feu g fereredl ® 4§ W ST F =T HC ;
(1) (A1), (B)-(0), (O)-(1V), (D)-(1L)

(2)  (A)-(IL), (B)-(IV), (O)-(I), (D)-(IT)
(3)  (A)-(), (B)-(I), (C(IV), (D)-(IT)
4)  (A)-(ID, (B)-(I), (O)-(I), (D)-(IV)

Options :

1.1

2.2

3.3



4.4

Question Number : 139 Question Id : 53307219726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(News Paper) (Head Office)
(A) The Telegraph () Lucknow
(B) The Tribune (II) Chennai
(C) The Hindu (IlI) Kolkata
(D) The Pioneer (IV) Chandigarh

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(I), (O)-(1I), (D)~()

(2)  (A)-(I), (B)~(1V), (O)~(1L), (D)-(I)

(3)  (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(I1I), (C)-(IV), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 53307219726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o - 1 % 9 gt - 11 3 e i

Tl - 1 T - 11

( TN T ) ( &I )
(A) T THAUTE O ETs
(B) T fe=m i ==
(Q =zfe= (eI EAG
(D) T IR (IV) =Ere

= feu o fapredi § 4 WEt S &1 999 HIfe
(1)  (A)-(IV), (B)~(IIL), (C)~(1L), (D)-(I)
(2) (A1), (B)-(1V), (C)-(1I), (D)-()
(3)  (A)-(1), (B)-(1D), (©)-(I), (D)-(IV)
(4) (A)~(ID), (B)-(11), (O)-(IV), (D)-(L)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Muckraking (I) Page Design
(B) Embedded (II) News Intro
(C) Gutter (III) Investigative Reporting
(D) Stacatto (IV) War Reporting

Choose the correct answer from the options given below :
(1) (A)AIV), (B)-(II), (O)(I), (D)-(IT)

(2)  (A)-(IL), (B)~(IV), (C)-(1D), (D)~(I)

(3)  (A)-(ID), (B)-(1V), (O)-(D), (D)-(1I)

(4)  (A)-(IV), (B)-(IIL), (C)~(1I), (D)-(I)

Options :

1.1
2.2



3.3
4.4

Question Number : 140 Question Id : 53307219727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el - 1 o &1 el - 11 1 e eRifer
-1 =

(A) WRTeRT O T fearT
(B) T () ==
(€) R (L) @it i (S=ifeifes fedifé)
(D) W& (Iv) g fafén (am farfé)
A1 feu U foaged ® ¥ Wel S F 95 FI ;
(1) (AIV), (BIH(IL), (O-(D), (D)
(2)  (A)-{I), (B)-(IV), (OHID), (D)-(I)
(3)  (A)-(I), (BHIV), (O(I), (D)-(IT)
(4)  (ARIV), (BIH(II), (C)-(1), (D)-(0)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072771
Question Shuffling Allowed : No

Question Id : 53307219728 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer the questions.

Exploratory researchis used, when no information or little information is available. Generally,
this type of research is qualitative which becomes useful in formulating hypotheses or testing
hypotheses and theories. In this research, the assumption is that the researcher has little or no
knowledge about the problem or situation under study or he is unfamiliar with the structure of the
group he is studying (say, prison, industry, university, village and so on). As an example, in an
exploratory study of a prison, the researcher points out how a prison is divided in barracks and
wards; what type of work is assigned to different types of prison officers; what recreational, medical
educational, efc,, facilities are provided to prisoners; what rules they have to follow in interacting
with other inmates or with officials; how they are to maintain contacts with the outside world;
and so on. The researcher also comes to explore how prisoners reject the prison norms and come
to follow the norms of the inmate world, say, always keep grumbling about the food, work and the
facilities provided, always work less, do not reveal the secrets of inmates to prison officials and so
forth.

Exploratory studies are also appropriate for some persistent phenomenon like deficiencies in
functioning of educational system, corruption among political elite The Chief shortcoming of the
exploratory studies is that they seldom provide satisfactory answer to research questions. Failure
to give definite answer is because this type of research lacks representativeness,

Sub questions

Question Number : 141 Question Id : 53307219729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When Exploratory Research is used ?
(1) Ample information is available

(2) Available information is known and easy to research
(3) No information or little information is available

(4) Available information is known but difficult to research
Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307219730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Exploratory Research is :
(1) Qualitative

(2) Quantitative
(3) Paradigm
(4) Model
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307219731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The researcher while conducting exploratory research

(1) has a lot of knowledge about the problem

(2) has false knowledge about the problem

(3)  has little or no knowledge about the problem

(4) has vast/correct and true information about the problem

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the disadvantage of exploratory study ?

(1) It hardly gives satisfactory answer to research questions

(2) It always provide satisfactory answer to research questions

(3) It never provide satisfactory answer to research questions

(4) It has no potential for finding out correct answer to research questions

Options :
1.1
2.2
3.3
4.4



Question Number : 145 Question Id : 53307219733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Why exploratory study lacks in providing definite responses ?
(1) The process is difficult
(2

) It is not scientific
(3) It lacks representativeness
)

(4) It lacks information
Options :

1.1

2.2

3.3

4.4

Question Id : 53307219728 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

i ety ot eATe ey & WY & SR S ¢
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Sub questions



Question Number : 141 Question Id : 53307219729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AU Y 1 FA TR g # foan s g 7

(1) @ AT SERT 3 H ¢

2) e SRR ST Teclt & ST 9 e G T

3) T HE AN ST T Tedl ¢ A 7 F el AN 39eed Tl ¢
4)  SYT SRR J6 B @ fef] 3R W9 LA S Bl &

Lad

(
(
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307219730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TAYUTeH: I § ¢
(1) TUMeHh
(2) WERHS
(3) UTERH
(4) T
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307219731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR WY FT % W T
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2) W geE F aR ¥ fRem A @R
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4) I TR % A 68/ Hel S T TR 376 el &



Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TAUIHE ST 1 e TaT 7 7

(1) Farfad & it 308 I 999 & e ST 9T 8 ¢ |

(2) THY T WY Y 3 HerTeE ST W o © |

(3) TEH F oft v T o HAeITe ST 9T T e & |

(4) 3T 9y T O T IR TG FA FT R & (FHre) T B B

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307219733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TAUTeHe a7eEA W A YRR R 219 /i @l €
(1) &8 9H Sfed (T&8) T

(2) IE ST e 2
(3) 3EH =AveyH (ufafafue) o1 s B
(4) STH SR T 27976 Tedl © |
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072772
Question Shuffling Allowed : No

Question Id : 53307219734 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions,

Technique : A means to an end. The technique of warfare, of poetry, of automation. the
technique of making love, of making films.

At the turn of the century, Thomas Alva Edision invented an optical toy. In 1915, D.W.
Griffith made ‘The Birth of a Nation'. Robert Flaherty took a primitive camera, explored the Arctic,
braved its blizzards and came up with "Nanook'. This was in 1921. "The Gold Rush came three
yeats later and ‘Potemkin’, four.

[f [ were asked to name the six most important events of the twentieth century, the birth and
the phenomenal growth of cinema would certainly be one of them. This growth, it must be admitted,
has not been solely due to the artists. The optical toy attracted two kinds of men. One was, of
course, the future film-maker who saw in it a new mechum of expression. The other was the
businessman, who felt that the toy would provide a lucrative opening for the show business. As
happens so often, the artists had no money (and the toy was an expensive one), and the businessman
knew little about art. So it came to pass that the two were united for their mutual benefit and
conceived the industrial act of motion pictures. The marriage has been a lasting one, and the
offspring many and varied.

Sub questions

Question Number : 146 Question Id : 53307219735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D.W. Gritfith directed which film in which year ?
) ‘Nanook’ in 1921
2)  'The Gold Rush’ in 1924

)

)

“The Birth of a Nation’ in 1915
Potemkin’ in 1925

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Name one most important event of the twentieth century.
(1) Film techniques

(2) Automation

(3) Birth and growth of cinema

(4) The Birth of a nation

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is an optical toy ?
(1) Film Camera

(2) Digital Camera
(3) Binoculars

(4) Eye-glasses
Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307219738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The film-camera attracted what ?
(1) Films and Techniques
(2

) Technology and Automation
(3) Film maker and Businessman
)

(4) Griffith and Potemkin
Options :

1.1

2.2

3.3

4.4



Question Number : 150 Question Id : 53307219739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who were united for their mutual benefit ?
(1) Film-makers and businessman

(2) The Gold Rush and Nanook
(3) Edison and Flaherty

(4) Optical Toy and Techniques
Options :

1.1

2.2

3.3

4.4

Question Id : 53307219734 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307219735 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

2. g5y, fuftre 3 foifera # 9§ for o forg e o1 e feram o ?
(1) =4 1921 H "AMF'

(2) =¥1924 ¥ ‘g Tiiee W’

(3) =9 1915 7 ‘g 99 1w T WA’
(4) 991925 ¥ 'grefisd’

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aget Tel F Ty Tyl Se] 1 AT Fargy ?

(1) TweH gfafy

(2) TEEEH

(3)  To=m kT 4 Tl SR Hafs
(4) g =hT 37

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 53307219737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTeRTTSTeR fagetrn (effeshar 2fh) =1 € 2
(1) fwew Fau

(2) Tfefsea U

(3) EAREER (G)

(4) SM-TARY

Options :
1.1



2.2
3.3
4.4

Question Number : 149 Question Id : 53307219738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foren Y A fog tmeRfta foman 2
(1) frem R g (gfafé)
(2) IR SR e
(3) Treafmiar iR sragr
(4) Taftry 3R drefer
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307219739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I IRETE 1Y F fou F TH gu?
(1) Toren fofar IR yergr

(2) 3T Tee SR AgH

(3) UEA iR Forged

(4) SRR fEer &A1 ufafy
Options :

1.1

2.2

3.3

4.4





